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D C B A Questions J o Uiy JE’/)
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Relation Conditional Repetition Sequential | In C-Language which is the default cofitrol strueture?
PSS Vo o i e ety S al 2
= 2 : c
Arithmetic, Logical  Relational Arithmetic | A condition can be any expression.
relational or logical —2Zn
-‘L&Jf'b:a;ftifd)ﬁ?.{f Lf's scanf| 3
$ * % & It is a very common' miistake to forget operator |
in the scanf function. =
unsigned int char float int 'f': b ‘-}!""éﬁ é-."-l’r U]_._._ e e getch()| 4
getch() is.used to take as input from user,
=y v s skt -bg(]lgo’{d' u.;“; J"}:'F Include| 5
Print Comments Main Header - 4 |Inglud€'statemeénts are written in section.
- u*'G _ =4 S :§.rlqu_t::rlg’f/rb’dséﬁz‘f&b§b’ay¢ 6
- A block of statements that performs a particular task
Loop Function Constant Varidble is called:
.What will be the output of code? :d’m.‘.gd.il' 5:({1 7
2 1 “2" ) L lll VOId ab'? 0
& printf("1/n");
2 e Fhuses Uit In function char is: ‘¢~ char u.‘.'ufﬁ 8
charcd ()
Argument Array ( Return type Body {return'a’; }
e | Nt (e S e P M eSS 9
Array index Artay size Array name Data type is the unique identifier used to refer the array.
e O ANy &

If size of an array is 100, the range of indexes will be:
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( Part-1I Jilazaa )

Werite short answers to any FOUR parts. FB p-_ 4 2— -3-7-- -é@&lﬁ{ééﬂﬁbk&(jf
Define syntax error. -gr‘g -/ d:'{ Iy Sy @
Why do we use comments in programming? . ; o Z.JUF"”U[ uf'._gl):{ (ii)
What is meant by IDE? ?q_.JL/LfL IDE (iii)
What is the use of relational operators? " ?‘;.db}'lgfb?}.{fﬁ; (iv)
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What is meant by precedence of operators? Which operator has the highest precedence in C-Language?

Define statement terminator. _g‘-‘-‘:...éf /.'.J /i?}'.:/'-‘-/ (vi)
Write short answers to any FOUR parts. & a&[z/{ﬁplekc.—Jf
Write the purpose of if else statement. _g’-f;flﬁ‘(..:ﬁ" ifelse (i)
What is the output of the following: - eVl ST U5ts (i)

void main () void main ()

{ : { &

inta=7, inta=7,
if(a%2==0) ifa%2==0)
printf("Even"); printf("Even");
printf("OK"); printf("OK");

} : " _
Why do we need conditional statement? e d:fu:;( :m)(;».’;‘? (ﬁjfu:‘? (iii)
What are selection statements? : - St Unl 'di'af (iv)
What is meant by array initialization? S :I/'ifc;..w?:; Wi (v)
Declare an array which initialize height of fiyé@peoplel S S U2 gE i il (vi)
Write short answers to any FOUR patts. -JQLMI#L']Z‘JL'C-J/
What is meant by user defined funétions? ?q.ﬂ/_l,fc. ,‘»Gi.?ta_: s (i)
How many values a functionganseturn? fe 05/@21;&,5’" u“ﬁ ..Q (ii)
Define a function with the ndme of suth which can add 2 numbers. ES Cffu:/ 2 J?g‘,{pf igiu“c ..J;Jr;(t‘f. "sum"  (iii)
What is advantage of c__livide and cénquer approach? - Yg.u.»’_!i l;'?d'i J&/{-ﬁsl‘:/ 3 (iv)
Write the namés of any two loops which use in C. -g?':}f}tﬁ _’J».:..djq_hé_xdb"’!uf cC W
Define nested loap, _5’5 - /'"J.;.a’b—f (vi)

_uj/'/ 08 LZJly -égfaglﬁﬁaﬂlr»c.-df ‘r-'i_,-‘-‘h:a-:-
Part - II, Attempt any TWO questions. Each question carries 08 marks.
A G Lt S
Define variable. Write six rules for naming a variable in C-language.
What are logical operators? Explain its types. _éwuerulJu I ?ugLnLﬁﬁgfdy
o Sy b Sbnde 2 o Sy Lz nZ SIS for

Write a program using for loop to print sum of first 10 natural numbers.
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